®

A WANDFLUH

w Hydraulics + Electronics

Module type manifold systems

Fixation for module type many fold

* Fixing brakets
* Fixing screws

FIXING BRAKET

NG3-Mini’
NG4-Mini’

@@Q
=

BB41 zinc coated Art. Nr. 171.1005 BB42 zinc coated Art. Nr. 171.1004
3 S
A B
212 212
L |
m}f —— y —— | - — y i ——
16,5 % 16,5 3
30 64 <—L> b4 =
<—] = >
For mounting a complete assembly NG3-Mini or NG4-Mini 2 fixing brakets are required.
1 off BB41
1 off BB42 (mounted on block side with O-ring counter bores)
FIXING SCREWS
Socket head cap screw Stud Nut zinc coated
Article No. 153.1401
W13
SN VII
' S
3‘\ l - @ . —_ ‘H> _____ — e | o — 1 1 =™
j’ | = _+ = =
l[& | ——
L 13 2 6.8
¥ — <> ()
< L =
FOR NG3-MINI
Number Description and dimension ( M8xL ) Fastening torque Article No.
1 block Cap screw M8x45 Steel 8.8 black DIN 912 23,5 Nm 246.4145
2 blocks Cap screw M8x80 Steel 8.8 black DIN 912 23,5 Nm 246.4180
3 blocks Stud M8x124 ETG 100 black 23,5 Nm 224.4025
4 blocks Stud M8x158 ETG 100 black 23,5 Nm 224.4026
5 blocks Stud M8x192 ETG 100 black 23,5 Nm 224.4027
6 blocks Stud M8x225 ETG 100 black 23,5 Nm 224.4023
7 blocks Stud M8x260 ETG 100 black 23,5 Nm 224.4028
8 blocks Stud M8x294 ETG 100 black 23,5 Nm 224.4003
FOR NG4-MINI (without BLV42)
Number Description and dimension ( M8xL ) Fastening torque Article No.
1 block Cap screw M8x55 Steel 8.8 black DIN 912 23,5 Nm 246.4155
2 blocks Stud M8x110 ETG 100 black 23,5 Nm 224.4005
3 blocks Stud M8x154 ETG 100 black 23,5 Nm 224.4007
4 blocks Stud M8x198 ETG 100 black 23,5 Nm 224.4001
5 blocks Stud M8x242 ETG 100 black 23,5 Nm 224.4009
6 blocks Stud M8x286 ETG 100 black 23,5 Nm 224.4010
7 blocks Stud M8x330 ETG 100 black 23,5 Nm 224.4011
8 blocks Stud M8x374 ETG 100 black 23,5 Nm 224.4012
Wandfluh AG Tel. +41336727272 E-mail: sales@wandfluh.com lllustrations not obligatory Data sheet no.
Postfach Fax +41336727212 Internet: www.wandfluh.com Data subject to change 2.9-122E 1/1
CH-3714 Frutigen Edition 07 31



